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QUESTION 1

Which statement about foreign keys is true? 

A. A table can have only one foreign key. 

B. Foreign keys can only be defined when a table is created. 

C. A foreign key can be defined on a column or a set of columns in a table. 

D. Foreign keys are enforced only during the execution of INSERT statements. 

Correct Answer: C 

 

QUESTION 2

Which SQL statement should be used to retrieve the minimum and maximum salaries (SALARY) for each job code
(JOB), sorted by job code, from a table named EMPLOYEE? 

A. SELECT job, MIN(salary), MAX(salary) FROM employee GROUP BY job ORDER BY job; 

B. SELECT job, MIN(salary), MAX(salary) FROM employee ORDER BY job; 

C. SELECT job, MIN(salary), MAX(salary) FROM employee GROUP BY SALARY ORDER BY job; 

D. SELECT job, MIN(salary), MAX(salary) FROM employee GROUP BY MIN(salary), MAX(salary) ORDER BY job; 

Correct Answer: A 

 

QUESTION 3

Which method for restricting data access relies on a SQL search condition that describes what set of rows a user has
access to? 

A. Authentication 

B. Authorities and privileges 

C. Label-based access control 

D. Row and column access control 

Correct Answer: D 

 

QUESTION 4

Which DB2 object can be used to improve the execution performance of qualified SELECT statements? 

A. Trigger 
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B. SQL Procedure 

C. Sequence Object 

D. Materialized Query Table 

Correct Answer: D 

 

QUESTION 5

Which case will require a sequence to be dropped and recreated instead of being modified by the ALTER SEQUENCE
statement? 

A. Change the data type of the sequence. 

B. Reset the sequence to its starting value. 

C. Establish new minimum or maximum values. 

D. Change the increment between future values. 

Correct Answer: A 
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